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dM: ZoHsE 84
&©e: ZUME 245t (&)
= _ — d =
SA - BB B (BA) - MM - BHES Ol &+ o4 e HmEET
307 glz2tol & 3,000 0 3,000
04 DI2HHALALSE E X 3,000 0 3,000
oz A FHds =& X 3,000
dEZMMEHsUHE XA 11,800 0 11,800
307 eIzl & 11,800 0 11,800
04 QIZFHALAIH E = 11,800 0 11,800
o=z =EUH XN 11,800
— 24 NsUHE HE XA 5,000
—H2ddsU SOt X 6,800
2E M=Eds sdXf 2 274203 Mz XA 20,000 24,000 A 4,000
307 21201 A 20,000 24,000 A 4,000
04 QIZFHALAIH E = 20,000 24,000 A 4,000
o4& M=z sdXd € AA202 =
A& 20,000
AL &= 2,130,150 2,520,450 A 390,300
Xl 525,000
< 15,000
e 1,590,150
HEAE |X2cl 215,150 974,450 A759,300
101 @144 dl 14,550 14,550 0
04 JIZHHZ2XREES 14,550 14,550 0
OZ33HESAE =8 M=z & &Cl2e
48,500 5 x5 43| «304 & 14,550
201 LB-2E| 34,100 34,100 0
01 At 2t 2l 9,100 9,100 0
OANL2e|gR 2HESE 2 700
—AEEBY Y SHNERY
60,0003 =13 +140,000& 200
—ANE22SER =257 500
OBAZA ZALY
17,5003 2 Al 2t 10 204 &+ 128 8,400
02 =224l 25,000 25,000 0
OZSSHSAE ALHNANFTH EA 25,000
202 oddl 2,600 3,600 A 1,000
01 = LH o4 1l 2,600 3,600 A 1,000
OASY MSAE |2l 2,600
206 M= Hl 13,200 13,200 0
01 =8l 13,200 13,200 0
OZ23MsSAM4 g & H2SESH 7 13,200
-tz 7y 6.600
—&22sH 7 6,600




2A: —"2|'I'|| 22 ALY A&
B 20708 |4
S MSAE =25 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
T AEHZXEUY 150,000 900,000 A750,000
01 A& HI 150,000 900,000 A750,000
OAZ HSAE 22 FXNE= 40,000
OFEMESSE OIARUAIE &X 40,000
OFHAXZICFE SE 2L 70,000
405 TtobFE S 700 9,000 A 8,300
01 AL EZFH S 700 9,000 A 8,300
OM=dgA =257 700
— AL AHTH 500,000& = 1CH 500
— A ALZICH 200,000 «1CH 200
MSISASRNA(ME) (2 HOESH MEZ3A 900,000 0 900,000
Xl 237,000
s 663,000
401 Al HIZ 201 8] 900,000 0 900,000
Xl 237,000
e 663,000
01 A& HI 894,330 0 894,330
OZ=x HNOESE U= A 894,330
X 237,000
s 657,330
03 AlE 2 THHI 5,670 0 5,670
O+ HOIESH UFTM ALY
900,000,000& *0.63/100 5,670
HMSIEAMLNA(ME)(ZFAMSISE HLUAE AL 210,000 0 210,000
we)
Xl 63,000
[ia 147,000
401 AIEHI L 2 CHYI 210,000 0 210,000
Xl 63,000
e 147,000
01 A& HI 210,000 0 210,000
OZAMSESSE HULE AIZEER 210,000
X 63,000
[ia 147,000
2REXHSAME HEXH 15,000 46,000 A 31,000
< 15,000
401 AIEHI L 2] 15,000 46,000 A31,000
= 15,000
1T AIZHI 15,000 46,000 A 31,000
OF== HHZE MESAE HE 15,000
< 15,000
METSAE ZHAS 40,000 0 40,000
401 A EHI L L O 40,000 0 40,000




FAM: 23

X{ XH -
S =

el

SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
01 Al&H| 40,000 0 40,000
O sl2otS2x2d 23 Ald &X 10,000
OZENE 231+ &X 10,000
OO0IEDE 217 &X 10,000
OZHIE 2371+ &X 10,000
MSTEANLXNA(ME) (¥ stF2SE2SH MY 750,000 500, 000 250,000
& ZAH)
Xl 225,000
= 525,000
401 Al HI L 2 0HHI 750,000 500, 000 250,000
Xl 225,000
= 525,000
01 A& HI 745,275 500, 000 245,275
O&x stxelSEFINE AMEINE S A 745,275
N 225,000
= 520,275
03 A& 20HY| 4,725 0 4,725
OF% sH-2ZEANT NLNLBA AL
CH I 4,725
HEees 243 & dAxge §4 540,440 522,840 17,600
= 23,000
= 517,440
NESSZEIR 2dd 29Y9 17,440 22,840 A5,400
201 Bt A H| 17,440 22,840 AN5,400
01 AP 2t2l bl 1,000 1,000 0
OFAEE ¢ SF&EXFY 100,000& *103] 1,000
02 3524t 16,440 21,840 A5,400
OXE2sEIIR sdd 29| 16,440
— LhebH| (LPG) 1,830& *4,000Kg 7,320
— MO ERE 400,000& x12& 4,800
— oY ¥ SAR2 200,000& 128 2,400
—2otgH 89 2 160,000& ~12& 1,920
NE2SHEIR 29 500,000 500, 000 0
301 et A= 500,000 500, 000 0
Vo= - 2SESENZ 500,000 500, 000 0
Od=t 20 385,000
Oz && | 15,000
ONx=& 29| 100,000
AESSHIE 29 I 23,000 0 23,000
= 23,000
301 et A= 23,000 0 23,000
= 23,000




2N

o Hs2H
Bu: 2uHE 84
& ME23 243t ¢ s |4 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
V=t - 2s2SE43 23,000 0 23,000
O&==t 29| 23,000
= 23,000
2= 2,141,190 1,281,737 859,453
Xl 756,000
J| 5,120
= 7,460
[ia 1,372,610
4N ES 356,799 275,818 80,981
Xl 21,000
J| 5,120
< 7,460
e 323,219
HFEBHSR Lt 181,433 130,765 50,668
101 @124 dl 19,148 18,265 883
4 JI2ZtHZ2XREES 19,148 18,265 883
O2A=01 SEHHA 2L (=HMIL) 19,148
—Jlas 51,8003 x 1 246 12,743
— K5 51,800 » 1 »522 2,694
—522RE 77,7003 x1H 12 933
— ZE SO 200,000 x 1Y «H 23| 400
i PN RSy 51,800& 10 518
—S8= 1,860
201 et 108,085 101,900 6,185
01 At 22l 92,500 96,900 A 4,400
OAZEZESHH 36,900
— ZtZObLH 2 I HI & 10,000& »2,000% 20,000
—S2EUEIHH 300& 30,0008 9,000
— 22578 SO0HAMA 1,500& 2,000 3,000
—ES2E578 HEsEAH 500& #5,000% 2,500
— 89 400,000& *64! 2,400
O=ZIEsH= 20,000
OZX 228 J4NE 24 20,000
O&axT 2ZHUHE HE &X
700,000 *109H 2 7,000
OZZ=S=2E MEUES 38 €9 A
25,000& 2005 5,000
O&s5el AMEITEN 22l 3,600
02 2324l 6,585 5,000 1,585
OZFEE= SFE 28 & Hiie= 1,510
- 2,320& 50004 1,160
—HilR=a 7,000& %503l 350
Oz ZHXNSE Z&8= &S 15,0008 128 180
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EXN: SHSHZTAIE A
Hu: pRAE
ool BBNASS CER-ED
- _ _ RE]
SA - B .G (3AH) - MBAY - BES %Eﬁ HR=2
OCIXIEAI0ILI Xl & Xl22ldl 4,895
—&5E8= 220,000 x12& 2,640
— Ol Y 3 & HI 22,000 ~5& 110
— &I = 11,0003 x5& 55
— S X224 220,000 x5 1,100
AFAaHEH = 330, 0003 34! 990
03 &AL EH| 9,000 0 9,000
Ozt AL E I 9,000
— N2 E{EIE 1,000, 000& *x23| 2,000
— 2haeretg &) 7,000,000 «13] 7,000
202 04| 5,200 3,600 1,600
01 2L HI 5,200 3,600 1,600
oM 2| EE 5,200
301 et A= 9,000 0 9,000
11 J|EtE A2 9,000 0 9,000
OFx=52 ANEEN 9,000
401 AlEHIZL 201 Y| 40,000 0 40,000
01 Al&H| 40,000 0 40,000
Oz && ot & EE2 AMEZ2 &X 40,000
ZS2ZHEA A 42,100 43,360 N 1,260
J| 5,120
& 7,460
= 29,520
301 et A= 42,100 43,360 N 1,260
J| 5,120
& 7,460
= 29,520
11 JIEtE A= 42,100 43,360 A 1,260
OS2l & A E=H| 42 100
J| 5,120
o= 7,460
= 29,520
LA S 22l 68,508 62,985 5,523
101 21 214| 19,148 18,265 883
04 JIZtHI22XNSES 19,148 18,265 883
OZTHHI & Al 2 22 29 19,148
A=) 51,800 « 18 »246 12,743
-S54 51,800& 12«52 2,694
—52422x4 77,700& 1«12 933
— HE 50| 200,000@ x1H xH 23| 400
— X E 51,800& 10 518
— 88 = 1,860
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EXN: SHSHZTAIE A
Hu: pEAE
ol RENEES CER-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
01 Al&H| 32,000 20,000 12,000
OJALHHEX LR LIHE 4 32,000
Xl 16,000
= 16,000
LW 2LEHSAI CIHEIEXZ 3,000 5,000 A 2,000
301 et A= 3,000 5,000 A 2,000
11 J|EtE A2 3,000 5,000 A 2,000
OZZHFX S0 AI AHEIEXZ
10,000 *300H 3,000
=S2ZZ=H 0l Al 22l 3,708 3,708 0
201 LBt | 3,708 3,708 0
02 Z2=2=24%4| 3,708 3,708 0
O=2sta2Z EHO0IA SXA 22l 309,0008x12& 3,708
ZZIA I RE ALY 16,050 0 16,050
308 MXISHMSOIA 16,050 0 16,050
07 AIXISHHZ2EES 2 16,050 0 16,050
OZZMAUAPREAY 2 I 16,050
Xelah 2t2 X e 749,391 1,005,919 A 256,528
Xl 235,000
= 514,391
Xelard 2tZofgr 2Bt 66,750 109,455 N42,705
201 et 9| 10,000 60,000 A 50,000
03 A2 HH| 10,000 60,000 A 50,000
OHM13al XNeldH XS Msial = 10,000
308 XX EHSOIA 56,750 49,455 7,295
07 AIXSHHZ2ESSZS 56,750 49,455 7,295
OXelaHUIPLXE 22 56,750
ZAZTZTRAM L (K2 A 2Z012H00] 29) 250,000 33,000 217,000
N 150,000
= 100,000
308 XXIGHH SO0l & 250,000 33,000 217,000
N 150,000
= 100,000
07 AIXISHHZ2ES 2 250,000 33,000 217,000
OXlelata 2Zo2td ol 29 250,000
Xl 150,000
= 100,000
ZHEALLTNANL (X2 MP sE23 220IS Al 26,000 30,000 A 4,000
g X))
N 16,000
= 10,000




FA: 2SHS2ZAG A
Ny BEIE
Chelr Xolatd 202X e (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
308 XXM SO0 A 26,000 30,000 A 4,000
Xl 16,000
s 10,000
07 XX SHM2ARES 26,000 30,000 A 4,000
OXeldtd sE23t 2202 Algxd 26,000
Xl 16,000
s 10,000
ZUAAZTAAMNY (Kl arH AN 2ZAEHY) 33,000 35,000 A 2,000
Xl 19,800
e 13,200
308 XXM S0l A 33,000 35,000 A 2,000
Xl 19,800
e 13,200
07 IXNSHH AR S = 33,000 35,000 A2,000
OXleldtd A 22 A4SHE 33,000
Xl 19,800
s 13,200
FAAZZTAMNL (XelaH 78 701 £4) 82,000 70,000 12,000
Xl 49,200
i 32,800
308 XtXIEHH SOl A 82,000 70,000 12,000
Xl 49,200
[ia 32,800
07 XXM RE S 82,000 70,000 12,000
OXlelsrd 78701 4 82,000
Xl 49,200
i 32,800
AL (=S 22X 224l) 291,641 0 291,641
101 @144 dl 38,166 0 38,166
04 JIZHHZ2XEES 38,166 0 38,166
Oll=s 22X 22 222X 24,180
—Jl=s 51,8003 x2F 124 12,847
B = A= E =y 51,8003 x2H 252 2,590
—RY2RE 51,8003 2 *20+1.5 3,108
—Qx=g 51,800 »2H 6 622
— BE S| 200,000& x2H x 13| 400
— U2 RFE 2,8403 x1H+6Al 2tx124Y 2,113
— 582 8 2,500
Os9Ald 404 51,8003 x3H 90 13,986
201 LB-2dH| 136,295 0 136,295
01 At 2t 2l 50,115 0 50,115
Ol=s 22X 29 2e| 50,115
— EHO0X 2g22 1,400,000& 1204 & 16,800
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2A: S2SA=2Y
Ny BEIE
chel: XiclAtA 22X g CEERED)
SA-HB .Y (BH) - MBPAY - B2 o A o SSa H RS2
— e AIRBIS 200,000& 53] 1,000
— 827 Xz 50,000 x 1204 & 600
— SAD| Xz 99,000& *x12J4 & 1,188
— PPOMCH 2,200& *5000H4 1,100
— S HEE(75L) 1,000& *3,0000H 3,000
— SEHESE(10L) 150& *3,0000H 450
— APHOXE 20,000& x20& 400
—NEEE 50,000& x50 2,500
—SI&A HA, HISS
100,000& 105 *23] 2,000
—SHAE FHEA 50,000& x658F A 3,250
—AtHEZ OI2HNE
118, 0003 *32&! x3NH E x13] 11,328
—F=HEE 1,200 *324! 265 999
— MY IS (RBex=HE) 150,000& =104 1,500
—dFHAEH EXFY 3,000
— == =& HAtHl 500,000& *23| 1,000
02 352494l 86,180 0 86, 180
Oti= &2ZX 422yl 86, 180
— A4 & FHH SFH(FLSR)
1,355& *3,0004 4,065
— A& 2 FHH SFRH(FK)
1,110& *2,000¢ 2,220
— X Y 2AEH =2l 250,000 *x35*53] 3,750
— A8 R X2l 10,000
—&IIAEZ 4,000,000& 1201 & 48,000
— &Do|etdte| O] 300,000& x12& 3,600
— QY22 30,000& *32&! x 1201 & 11,520
— XANEHI B A= 25,000& *13] 25
— 83z A 2,000,000& x13] 2,000
— 22X AlE Ea 1,000,000& 13| 1,000
405 XHoHF SHI 117,180 0 117,180
01 A&t = S F SHI 117,180 0 117,180
Oxzdts NNMFHSES 54,540
— TV(40Q!1 XI) 600, 000& *32ea 19,200
— Y& (2250) 520,000& *32ea 16,640
—do|erE(ed) 300, 000& *32ea 9,600
— D12 (420%25%1540) 62,500& *32ea 2,000
— tvEAH 150, 000& *32ea 4,800
— ot 500,000& *1ea 500
— A3ITH 300,000& *1ea 300
— SO cHa 1,500,000& *1ea 1,500
Oacls NAFHSEES 62,640
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SN SHHUSBZALAL
Hu: pRAE
el X2latE BB

SN HH-S(BN) - MBAY - B il HlnE2
—ARE My 250,000 *4ea 1,000
— MRS 2T 110,000& *4ea 440
— S8 300,000 *1ea 300
— AIH2218) 500,000& *1ea 500
— &0l ?¢(125¢c) 2,500,000 = 1CH 2,500
— 18 E& W0 21,000,000 = 1CH 21,000
— " AED 25,000,000 = 1CH 25,000
—EAXDI 11,000,000 =1 CH 11,000
— &40 300, 000& »3CH 900
SEDN HYAMNE ZLAMH ,035,000 0 1,035,000
Xl 500,000
s 535,000
SFASINANL(SEDIN BHOYANE ZHAY) ,035,000 0 1,035,000
Xl 500,000
s 535,000
401 AIEHIZ 28I ,035,000 0 1,035,000
Xl 500,000
s 535,000
01 A& HI ,003,500 0 1,003,500
OSEDM HOYANLE ZEAY ,003,500
Xl 500,000
s 503,500
02 Zeltl 30,000 0 30,000
OREDNN HYAE =dAM 30,000
03 Al 2 0HHI 1,500 0 1,500
OSEDM HOYANLE ZEAY 1,500
FoREXN B 37,406 46,171 AB,765
Ngolgs 2l 37,406 46,171 NB,765
=HArE 2tel 37,406 46,171 NB,765
101 1A Hl 2,590 2,425 165
04 JIZHHZ22XREE S 2,590 2,425 165
O=Atg =84 51,8003 x 10 «5H 2,590
201 2ot 2 Y| 34,816 33,486 1,330
01 At 22l 10,930 8,130 2,800
O=AY 2telAS A 28l 50,0008 117 5,850
otEzr=EE 35,000 *43| 140
O=HALE ZelAtf 4 TelH EY2E
350,000& »23| 700
O=IHALE ZelAFR A A gis
150,000& *123] 1,800
O=AE &CIZAI JIH sX 22 600
O=Ag2d 4288 70,000& +12& 840
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X ZH -
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el
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=
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tol toi ton
o
HT
17

=
el
o
m
40
m
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SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

10,750

HJ

,000 0 15,000
o48E S8JlE MXE 15,000
3,500

750
10,750

O
0z

=
e
1+ 0o
12
=
&

oo
EJ
o
0x
A

ra

M A

401 AIEHIZ 2 CHYI 10,000 90,000 A 80,000
7,000
1,500
1,500

UL RN

01 A& HI 10,000 90,000 280,000
O&dglIge sA2el (=l ASE) 5,000
3,500
750
750
OFAIIEE sAZel(S84el “ElUR) 5,000
3,500

750
750

Mo A

HH A

S NE 22 8,000 8,000 0

3,626
4,374

M

201 LEr2A | 8,000 8,000 0

3,626
4,374

M

29| 8,000 8,000 0
SN U-td2te| A A [ 8,000

3.626
4,374

EURLY

NEXE23 M 2+=3H| 364,000 330,000 34,000

182,000
182,000

EUNE

207 &A1 JH & Hl 80,000 0 80,000

40,000
40,000

EUNL

80,000 0 80,000
80,000

40,000
40,000
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o

=
0x
0
ng
g
M
PA
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M

401 AIEBIZ S CHYI 284,000 330,000 A46,000

142,000
142,000

M H

01 A€ HI 284,000 330,000 A 46,000

OZAHNE EFHI 20,000
10,000
10,000
Oasel Itz B3l 60,000

Mo

_26_




S SZAIE A
2spu BE
23t 22l Chel: ® &)
SN ED B (3H) - MEAY - BAS ol &k o8 ﬁlf& HD=2
== 30,000
= 30,000
O=lAY 23| 104,000
o= 52,000
iy 52,000
Ot AR A DA S H2ZAE =AY 13,000
= 6,500
= 6,500
OFEHAMATH F=B1HH| 15,000
o= 7,500
= 7,500
OHJEMNSIH E4HH| 21,000
== 10,500
= 10,500
OdHZ 2= Ex=FH| 4,000
& 2,000
iy 2,000
OFAEII=s B3| 17,000
= 8,500
= 8,500
O3tAEAF B=FH| 30,000
o= 15,000
= 15,000
S5 SMMAE S22 N (23 e X Al 18,000 48,000 A 30,000
xg)
= 12,600
= 1,620
= 3,780
A2 eyl 18,000 8,000 0
=2 12,600
& 1,620
= 3,780
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